FrlL>ITY b bV &

LN 8

% I = Z3IEASRDIHOOKE
Z3IEABR=LNL20
FIPREFRET 2
7 # 2 (11 o&)
1 2,220 =+ 37
2 1,470 =+ 15
3 1,824 =+ 76
4 2,537 =+ 43
5 378 =+ 21
6 1,539 -+ 27
7 640 -+ 40
8 3,458 -+ 91
9 3,776 =+ 59
10 2,604 - 28
11 25,130 -+ 35
12 8,614 - 59
13 33,989 - 829
14| 58,491 =+ 603
15 17,920 -+ 64
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FrlL>ITY b bV &

LN 8

% 2 = Z3IEASRDIHOOKE
Z3IEABR=LNL20
FIPREFRET 2
7 # 2 (11 o&)
1 1,344 -+ 14
2 1,015 =+ 35
3 936 -+ 12
4 2,150 -+ 50
5 6,106 - 86
6 1,296 -+ 27
7 1,410 =+ 15
8 660 -+ 60
9 4,872 -+ 87
10 2,656 -+ 32
11 26,961 -+ 43
12 5,206 -+ 19
13 28,576 -+ 608
14 20,865 -+ 321
15 56,840 - 58
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FelL>ITYb b E LAL] 8

% 3 E 23 IEA SROE-HDOKRE

Z3IEA5B=LNIL20

HIFREFR] 7 2
a2 #» £ (IEI0R)
1 2,604 - 84 =
2 o225 -+ 25 =
3 8,360 -+ 88 =
4 1,140 -+ 19 =
5 3,192 -+ 76 =
6 6,156 -+ 76 =
7 520 = 40 =
8 1,904 -+ 34 =
9 1,975 - 25 =
10 2,646 =+ 27 =
11 7,126 - 509 =
12 12,784 =+ 17 =
13 22,842 = 846 =
14 65,568 =+ 96 =
15 77,190 -+ 83 =
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FelL>ITYb b E LAL] 8

£ 4 B Z3IEA 5SRO DHORE

Z3IEA5B=LNIL20

HIPREER7 2
7 # 2 (11 o&)
1 3,104 - 32 =
2 1,102 -+ 19 =
3 5,200 - 65 =
4 384 - 24 =
5 3,358 - 46 =
6 7,566 -+ 78 =
7 874 = 19 =
8 1,280 -+ 20 =
9 1,395 =+ 15 =
10 4,346 -+ 53 =
11 6,902 - 406 =
12| 66,960 - 930 =
13| 35,793 -+ o7 =
14| 14,552 - 34 =
15 12,710 = 82 =
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FrlL>ITY b bV &

LN 8

% 5 = Z3IEASRDIHOOKE
Z3IEABR=LNL20
FIPREFRET 2
7 # 2 (11 o&)
1 735 =+ 21
2 2,520 -+ 60
3 1,577 =+ 19
4 4,606 -+ a7z
5 5,175 -+ 75
6 1,862 =+ 19
7 1,508 =+ 58
8 1,350 =+ 30
9 938 -+ 67
10 2,664 - 37
11 38,544 -+ 528
12| 42,813 =+ 67
13 9,672 - 12
14| 49,194 -+ 911
15 18,720 -+ 24
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FrlL>ITY b bV &

LN 8

% 6 = Z3IEASRDIHOOKE
Z3IEABR=LNL20
FIPREFRET 2
7 # 2 (11 o&)
1 1,290 =+ 15
2 2,610 =+ 29
3 3,567 - 41
4 4,992 -+ 78
5 825 =+ 33
6 5908 -+ 13
7 1,598 =+ 17
8 4,130 =+ 70
9 5,695 - 67
10 1,886 =+ 82
11 9,204 -+ 26
12 11,037 -+ 849
13 16,684 - 97
14 25,920 =+ 720
15| 45,034 -+ 89
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FrlL>ITY b bV &

LN 8

% 7 = Z3IEASRDIHOOKE
Z3IEABR=LNL20
FIPREFRET 2
7 # 2 (11 o&)
1 2,214 = 82
2 5,727 -+ 69
3 994 -+ 14
4 1,410 -+ 15
5 1,680 =+ 30
6 1,608 -+ 24
7 4,656 = 48
8 936 -+ 18
9 1,300 =+ 20
10 2,976 =+ 31
11 17,238 =+ 507
12 28,016 -+ 68
13 23,140 =+ 890
14 28,246 -+ 29
15 5,214 -+ 33
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FrlL>ITY b bV &

LN 8

% 8 = Z3IEASRDIHOOKE
Z3IEABR=LNL20
FIPREFRET 2
7 # 2 (11 o&)
1 1,746 18
2 2,440 -+ 61
3 4,838 = 59
4 481 - 13
5 1,344 =+ 56
6 1,520 =+ 16
7 1,536 =+ 32
8 888 -+ 37
9 4,270 = 70
10 1,615 =+ 85
11 89,568 =+ 933
12 55,650 -+ 742
13| 46,632 =+ 58
14 14,725 =+ 31
15 9,920 -+ 16
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FrlL>ITY b bV &

LN 8

% q = Z 314 5SRO HDOKE
Z3IEASH/=L~IL20
FIPREFRET 2
7 # 2 (1M1 oK)
1 1,344 -+ 16
2 1,474 -+ 67
3 280 -+ 20
4 2,774 + 38
5 5,605 -+ 59
6 1,335 =+ 15
7 2,304 =+ 72
8 4,277 -+ a7
9 5,280 -+ 60
10 845 - 13
11 15,827 =+ 17
12 35,588 -+ 62
13 4,272 + 356
14 38,872 - o004
15 60,520 =+ 89
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FrlL>ITY b bV &

LN 8

% 10 B Z3IEASRDIHOOKE
Z3IEABR=LNL20
FIPREFRET 2
7 # 2 (11 o&)
1 6,460 -~ 85
2 1,581 =+ 17
3 3,913 -+ 91
4 4,320 =+ 54
5 352 - 16
6 4,680 -+ 72
7 944 -+ 16
8 2,604 - 28
9 4,183 =+ a7
10 1,920 =+ 30
11 12,090 -+ 806
12 2,967 -+ 23
13| 42,784 -+ 56
14| 30,624 -+ 87
15 31,960 - 940

©

x

-

{HRYAL



FrlL>ITY b bV &

LN 8

% I B Z3IEASRDIHOOKE
Z3IEABR=LNL20
FIPREFRET 2
7 # 2 (11 o&)
1 4,880 =+ 61
2 3,772 =+ 46
3 o972 -+ 54
4 2,025 =+ 27
5 3,627 -+ 39
6 900 + 25
7 6,396 - 82
8 3,393 =+ 87
9 1,410 15
10 2,460 -+ 60
11 23,220 =+ 86
12 34,086 -+ 39
13 12,445 = 19
14 4,494 -+ 107
15 15,850 =+ 634
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FelL>ITYb b E LAL] 8

% 12 E 23 IEA SROE-HDOKRE

Z3IEA5B=LNIL20

HIFREFR] 7 2
o ¥ £ (IEI0R)
1 6,750 -+ 75 =
2 3,072 -+ 64 =
3 969 -+ 19 =
4 2,952 - 82 =
5 2,511 = 27 =
6 6,612 - 76 =
7 1,380 —+ 15 =
8 1,504 -+ 47 =
9 5,760 - 90 =
10 o554 - 18 =
11 17,328 - 38 =
12 10,143 —+ 490 =
13 8,316 - 63 =
14 62,856 - 776 =
15 17,100 - o950 S
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